
Functions:
𝑦 = 𝑓(𝑥)
𝑓(𝑥) ≠ 𝑓 × 𝑥
𝑓(𝑥) means 𝑓 is a function of 𝑥.

Trigonometry

Slope Intercept "𝑏, 𝑚"
Slope Point "(𝑥, 𝑦), 𝑚"
General "(𝑥, 0) 𝑥 − 𝑖𝑛𝑡 𝑎𝑛𝑑 (0, 𝑦)𝑦 − 𝑖𝑛𝑡"
Gen Form: No fractions/decimals +𝑥, 𝑦, # = 0 
Parallel : Same Slope 𝑚 = 𝑚||

Perpendicular : Negative Reciprocal: 𝑚 = −
ଵ

௠
⎯⎯

Polynomials
(𝑥 + 3)ଶ = (𝑥 + 3)(𝑥 + 3) = 𝑥ଶ + 6𝑥 + 9
(3 + 4)ଶ = (3 + 4)(3 + 4) = 7 × 7 = 7ଶ = 49

𝜃 = cosିଵ(
4

5
⎯⎯)

𝜃 = cosିଵ( 0.8)
𝜃 = 36.9௢

Sin or Cos can't be larger than 1 or smaller than -1

Domain/Range: 
Fingers cover not included
Thumb points to included

Linear Relations
Positive slopes go up to the right
Negative slopes go up to the left. 
Zero slopes are Horizontal 𝑦 = #
Undefined slopes are Vertical 𝑥 = #

Exponents 
(𝑥 + 3)ଶ ≠ 𝑥ଶ + 3ଶ

(3 + 4)ଶ ≠ 3ଶ + 4ଶ

            7ଶ ≠ 25

Measurement
Make Units Cancel!

−1 ≥ 𝑠𝑖𝑛𝜃 ≥ 1    − 1 ≥ 𝑐𝑜𝑠𝜃 ≥ 1

Radical
Laws

Surface Area and Volume (Units)
Width of rectangle in Cylinder is Circumference
𝑉 = 𝐴௕௔௦௘ × 𝐻 ; 𝐵𝑎𝑠𝑒 𝑚𝑢𝑠𝑡 𝑏𝑒 𝑆𝑎𝑚𝑒 𝑎𝑠 𝑇𝑜𝑝.

ඥ𝑎ଶ + 𝑏ଶ
⎯⎯⎯⎯⎯⎯⎯ 

≠ 𝑎 + 𝑏

ඥ3ଶ + 4ଶ
⎯⎯⎯⎯⎯⎯⎯ 

≠ √9
⎯⎯ 

+ √16
⎯⎯⎯ 

  √9 + 16
⎯⎯⎯⎯⎯⎯ 

≠ 3 + 4

          √25
⎯⎯⎯ 

≠ 7

ඥ𝑥ଶ + 4
⎯⎯⎯⎯⎯⎯ 

≠ 𝑥 + 2

𝑠𝑖𝑛90 = 1
𝑐𝑜𝑠90 = 0
𝑡𝑎𝑛90 = 𝑈𝑛𝑑

𝑥 < 0
M𝑒𝑎𝑛𝑠 𝑥 𝑖𝑠 𝑛𝑒𝑔𝑎𝑡𝑖𝑣𝑒

Cant Distribute/Factor/Divide 
in/out of sin cos or tan!

(𝑎 + 𝑏)௡ ≠ 𝑎௡ + 𝑏௡

√2
⎯⎯ 

+ √2
⎯⎯ 

≠ √4
⎯⎯ 

Cant Distribute an 
exponent into a binomial!

Linear vs Non-Linear
Continuous vs Discrete

Distance
1𝑖𝑛 = 2.54𝑐𝑚
1𝑓𝑡 = 12𝑖𝑛
1𝑚 = 3.3𝑓𝑡

Don’t Forget the Index!√⬚
⎯⎯మ

5 sin(20) ≠ 𝑠𝑖𝑛100

Calculator
Degree
Mode!

Volume
    1𝐿 = 1000𝐿
1𝑔𝑎𝑙 = 160𝑜𝑧
1𝑔𝑎𝑙 = 10𝑙𝑏𝑠

Mass/Distance
1𝑘𝑔 = 2.2𝑙𝑏
1𝑦𝑑 = 3𝑓𝑡
1𝑚𝑖 = 1760𝑦𝑑
1𝑙𝑏 = 16𝑜𝑧

Graphing: TOV

      𝑥 𝑦 = 𝑓(𝑥)

    −1 𝑦 = 𝑓(−1)

       2 𝑦 = 𝑓(2)

[4, ∞): 𝐷𝑜𝑚𝑎𝑖𝑛
Interval Notation

Attach Prefix to the base unit!

1𝑐𝑚ଷ = 1𝑚𝐿 Water
1𝑘𝑔 = 1𝐿 

Left Hand: Thumb Points Greater Than

𝑥 ≥ 4

𝑥ିଶ + 5

3
⎯⎯⎯⎯⎯⎯⎯≠

5

3𝑥ଶ⎯⎯⎯

𝑥 − 𝑦 + 5 = 0
   +𝑦              + 𝑦
        𝑥 + 5 = 𝑦
                𝑦 = 𝑥 + 5

𝑥 − 𝑦 + 5 = 0
−𝑥                − 𝑥
     −𝑦 + 5 = −𝑥
             −5     − 5
             −𝑦 = −𝑥 − 5

             
−𝑦

−1
⎯⎯⎯=

−𝑥

−1
⎯⎯⎯ 

−5

−1
⎯⎯⎯

                𝑦 = 𝑥 + 5

Add 𝑦/Mirror

OR

TOV
Use your hand!
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